INTEGRALS INVOLVING TRIGONOMETRIC SUBSTITUTIONS

1 Evaluate L“Jlé-x: dx using the substitution x = 4 sin@. What shape have you just found the area of?
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2 Evaluate Lm}l—xZ dx using the substitution x = sin 6.
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INTEGRALS INVOLVING TRIGONOMETRIC SUBSTITUTIONS

3 Evaluate '[04 f:"x using the substitution x = 2tané.
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6 Evaluate | —mme=dyx using the substitution x = cos@.
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9 Evaluate I x16—x? dx using the substitution x = 4sin .
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10 Evaluate Ioﬁ
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12 Use the substitution u = tanx to find j —dx.
cos” x

k= Tan x A - sec?z . = pecEx d

P

daC
/e“’”- d,L._./e“"“x e A =/6 x d
*%

A

__ s

~ Section 6 - Page 4 of 6
«




INTEGRALS INVOLVING TRIGONOMETRIC SUBSTITUTIONS

SINX=COSX

13 Use the substitution u = cosx + sinx to tindj e,
SINX 4 COSX
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14 (a) By writing secx = ‘015 = show that il—( seCx )=secxlanx.
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(b) Using the substitution u =1 + secx, find
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